
M12x90 (10.9)
110Nm

M12x35 (8.8)
75Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
110Nm

M12x35 (8.8)
75Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
110Nm

M6x20 (10.9)
15Nm

9520092

9554254

5643/3

5643/5

5643/8

5643/8

5643/6

5643/4

564380

5643/7

5643/2

© 564372/02-11-2012/1

FITTING
 IN

STR
UCTIONS

Hyundai IX35 2010-

Par t no.: 2S281A
DE01

Page  1
o f 1 2

2S28 1ADE01 / 04-0 3-20 10

DEFRNLGBESITSEDEFRNLGBESITSE

Ei nbauanwe is un g Anh än gervo r richt un g

I nstru ctions d e mo nt ag e l ’attache- remo rque.

M
ont ag eh an dl eid in g t re kh aa k

Fi ttin g inst ruc tio ns towb ar

I n str uccio nes d e mo nt aje  e l g an ch o de rem
ol qu e.

Is tr uzi o ni pe r il  mon taggio  il  ga nc io  t rai no .

Mon teringsa nv isn in ga r dra gk rok en .

Po ky ny  k  m
on táži taž no u  ty

č.

M
ont ag evej ledni ng  a nh æn g ert ræk ket .

As en nusohje et  veto ko uk ku .

θ
δ
ηγ ίες

γ
ια
α
φ
α
ι ρού

µ
εν
ο
κο
τσα

δ
όρ

ο

M
on ter ing sa nv is ni ng for t ilh en g erf es te

In st ru cja mo nta
u  h ak  h olo wnic zy.

-  W
i r we i se n au sd rüc kli c h da

rau f h i n, das s e
ine  Mo nta ge,  di e  ni cht ord

nun gsg em
äß

vo n e ine m
 F

ac hin sta ll ate ur d u
rc hge fü hrt wur de, zu m Erlös che n je gl iche n Ansp ru chs

a uf Sch ad ene rsa tz, vo r al lem  d
e r An sp rüc he aufg run d des  Pr odu kte ha ftpf lich

tge-

set ze s, fü
hrt . 

- Nou s in si st on s s ur le  fai t qu e s i  l’ a sse m
b lage  n ’a  p as é té e ffe ctu é co rre ctem

en t p ar

un  in sta ll ate ur p ro fes sion nel , le dro
it à  un

e qu el conq ue  com
pe nsa tio n e n do m

m
ag es

i n térê ts  ser a a nnu lé,  e
n  par t icu l ier  l e  d ro i t ré sul ta

n t de  la  lég i sla t ion  e n matiè re de

r esp on sab i li té  de s pr odu i ts . 

-  Wij  wij zen  e r m
et k lem

 op  da
t e lk r ech t op  e nige  sc had eve rg oed i ng , m

et nam
e

sch ad eve
rgo ed i ng  die  ge bas ee rd i s de  we t o p de  p rod ucta a

n sp ra ke l ij k heid , ve
rv al t

i n dien  d e in sta ll at i e n i et cor rect  i s  u i tg evo
erd  do or  e en

 co m
p eten

te  ins tall ateu r.

- W
e w

ou ld  e xpr ess ly p oin t ou
t th at a sse m bl y  not  car ried  o ut p rop er ly b y a compe-

ten t ins ta l ler  w
ill  res ul t in can cell ati o n o f an y r igh

t to dam
ag e c om

pen sat ion , i n  pa r-

t ic ul a r th
ose  ar isi n g b y vir tue  of  the  pro d

u ct li ab il ity  act .

- Q
ue re mos  de sta ca r ex pre sament e q ue  un m

o nta j e i nco rrec to n o rea li za do p o
r un

i nsta l ad or  pro fes iona l  i mpl icar á l a  ca
nce lac i ón  de cua l q uier  de rech o d e compen sa-

c i ón  po
r da ño s, e n p art i cu la r aqu ell o s de ri vad os d e la

 l e gis l ac ión sob re  res pon sa-

b i li dad  de
 pro du cto s.

- Si  ri ch iam
a l ’a tte

nz ione  su l fa tto  che  i l mon tag gi o  i n acc ura to, a d
 o pe ra di u n in -

st all a tore  n on compe
ten te, com

po rta  il  d eca
dim en to d i  o gn

i dir it to di  risa rcim
en to

p er dan ni,  i n p a rt icol are de i  di ri tt i di g ara nz ia p er p rod ot to  d ifett oso .

- Vi  vi ll  ut try ckli g en  på pek a a tt m
on teri ng so

m in te ske
r ko rre kt a v e n k omp e

n ten t

i n stal latö r l e der t ill  a
tt  rätt en ti ll  n åg o n  typ  av er sätt ning

 fö r s kado r, sär ski lt  såd an a

so m  u
p pstå r i  e n

lig h
e t med pro du kta

nsv arsl aga r, fö rlo rar  sin
 gi lt ighe t.

-  V
ýslo vně

up ozo rňu jem
e,  že mon táž , kt erá

 ne bud e
 ř ádn ě

prov ede
na  op ráv něn ým

m
on tére m, bud e zna m

e nat  zru še ní v ešk erých  prá v n a n áh rad u ško
d y, p řed ev ším

p rá v, k terá  vz nika j í na z ákl adě
zá ko na o  od po vědn os ti z a v ýrob ek .

- V
i u nd ers treg er -  i fa l d  m

o nta gen  i k ke e r u dfø
rt på  ko rre kt vis af e n a

ne rken d
t in-

st all a tør - a t eth ve rt ga ran tik rav  vi l forfa l de , is æ
r  kra v m

ed  he nsy n t il  pro du ktk vali te-

t en.- H
alu am

m
e  nime

n omaan
 ki inn i ttä ä h uomiot a s i ihe n, että  e

p äpä te
vän  ase

nta j an

vää rin  su orit tama a sen nu s jo
hta a kai kkie n v ah in g

o nk orva
us oike uk si e n p

eruu n
tu -

m
isee n,  var si n kin jos vah

ing onk orv au sve l vo lli su ude sta  va pau tum
ine n o n t uot eva st-

uu l ain  m
uka ine n.

- Θ
α θέλ α

µ ε ν α  

ότι  σ
ε  

η
 σ

υν αρµ
ο λόγη σ η

δ εν  γί νει  σω
στά

 

έν αν εξ ει δ ι κε υµέ νο τεχ νι κό ε γ
κ ατασ

τάσεω
ν,  θ α  κα

-

τα στο ύν  άκ υρ
α 

δ ι κα ιώ
µατ α  

ζηµ ιώ
ν,  ε ι δ ι -

κό τ
ε ρα τα  δι και ώ

µ ατ α 

τη νο µο
θεσ ί α 

ευθ ύν
ης

Vi vil  g j ern e p åpe ke  at  m
o nter i ng  so m

 i kke  er utf ørt på r ikt ig  må te  av  en komp
e ten t

i n stal la tø r vil  m
e dføre

 ann ul le ring  a v en
hv er re tt  t il s kad ese rsta tn in g , i sæ

r med hen -

syn  ti l ret t igh ete ne s o
m fø l ge r av  pro

du kta nsv ars love
n .

- Za zna cza  s ię ,  e k a
d y p rzyp ad e

k m
o nta u nie

prze pro w
a dz one go p

rze z wł a ści-

w
eg o i n sta

lato ra spo w
o duje  od eb ran ie p rawa d o ods zko do wa

n ia,  szc zeg ól n ie u d-

zi e la ne go
 za sz kod y w

ynik ają ce
 z u staw

y o  od po wie dzia
lno śc i za  pro duk t (Prod uc t

Li a bil ity Act) .

- Обра тит е пр и п овреж
дения х, возн икших в  результат е не пра вильно го монт ажа , и стек ают

в се в иды гар ан тии,  в ча стн ости ,  ка саю
щиеся зако на , ре гули рую

щег о о твет ств енно ст ь за

ка че ство  про дук ции .

- De r In halt  di e ser  Mo nta g
e sätz e u nd  d i e  da

zug ehö rig en Mon tag an l eit ung en kö
n -

n en o
hn e v o

rh eri ge M
it teilu

ng  g
e änd er t we rde n. E

s i st dar auf  zu ach te n, d ass

dies e Anl e itu nge n v or B
eg in

n de
r M

on tage
 v ol ls tän di g  du

rch gel ese n u nd  ve r-

sta nde n werd en .

- L e co n
tenu  de  ce

s k its et d es m
an ue l s d ’ ins ta ll ati o n p e

u ven t fa i re  l ’ob j et de m
o -

d if ica t ion s san s av i s p ré al a ble ; ve il le z à  lire  att ent ive m
e nt l’ inté gra li té  de  ce

s i n -

st ruc ti on s e t à
 l es  com

pre
n dre ava nt d e p ro céd er à  l’ in sta ll a ti on . 

- De in
ho ud va

n  de ze
 set s en

 de  b i jbe hor end e in
st al la t ieh and l e id

in gen  ku nne n

zo nd er v oor afga a
n de  ken n

is ge vin
g  w

orde n
 g e

w ijzi gd.  Zor g e rvoo r dat dez e a an -

w ij zing en  ge leze n e n vo l le di g  beg rep en  wo rde n vo ord at  aan  de  i n stal la t ie  w
o rd

t be-

g
onn en .

- C
o nten ts o f th es e ki ts a nd t he ir f it ti ng  ma nua l s  a re  sub j ec t to alt era

tio
n  wi th ou

t n
o-

t ice
, p leas e e nsu re  tha t th ese  in str ucti ons  are  re ad  an

d fu ll y u n
ders too d b efo

re

co
mm

en cing  in
sta l lat ion.

- El c ont en id o de e sto s k i ts y su s m
an ua le s de i nsta l a ción

 es tá s uj e to a  m odi fi ca -

c i on es sin pre vi o  a vi so;  por  fa vor , as egú re se d e le er y en ten de r es tas  i n stru cci o-

n
es  en su t ota li da d a nte s d e i n ici ar la  ins ta la ci ó n.

- Il  con ten ut o di  que st i kit  e d i re
lat iv i m

an uali  di  i nsta l la zi o ne p oss on
o e sse re a

g-

g iorn ati  sen za com
un ica zi on e p rev ent iva.  Le gge

te e co m
p re nde te  a  fon do  le pre -

s e
n ti  i st ru zion i  pr im

a  di pro ce
d ere  co n l’i nsta

lla
zi o ne.

- Inn eh åll e t i  d es sa sats e
r och  t il lh öra nd e m on ter in

g sma nua l er  är  för emå
l fö r ä

n-

d
ri nga r u tan  för egå end e med d

e land e.  S
e  t il l att  i nstr uk t ion ern a lä se s o ch f örs tås

i n nan  in sta ll ati one n in l ed s

- O
b sah  tét o sou pra vy a  j e ji ch  i n sta lačn í p říru čk y p odlé ha j í z m

ě nám
 b

ez u po
-

zo
rně ní . Př ed zah áj ením

 in sta lace  je  tře
ba  si  t yto

 po kyn y p ře číst  a p l ně
jim ro

-

z u
mět .

- Der  kan  v ære  for eta get æn
dri nge r af  i nd ho ld o g ve d

la gte  br uge rve jl ed ning  u den

yd
erl iger e a nno nc erin g; k ont ro ll er ven li gs t at  de n m

ed fø
lg end e bru ger ve jle

dn ing

e
r læ

st og for ståe
t in den  ins ta ll er in g.

-  Nä i de n t yök alus ar j ojen  s isäl lön ja a sen nu soh j eid en m
uuto kse t o

va t ma hdo
lli s ia

i lm
an eri  i lm

oitu sta.  P
yydä mm

e v arm
ist au tu m

aan  sii tä, e ttä  nä m
ä  ohj ee t on  l ue ttu

j a  ym
m

ä rre tty täys i n e nn
en  a se nn

uks en a l o it tam
ist a.

-
 Τα

 

αυτώ
ν τω

ν σ
υσκευ α

σιών κ α
ι τα σχε τ

ικά
 εγχ ε

ιρ ί δι α

συν αρ
µο λόγ η

σης 

να
 

χω
ρί ς 

ει -

Βεβ
αι ωθ είτ ε ό τι  έχε τε δ ι α

βάσει  κα ι  κ
ατ ανο

είτ ε 

τ ι ς

- Inn
ho lde t i dett e u sty ret  og i de  ti lh ø

re nd
e m

on te ri ng sins tru kse ne  ka n en d
re s

ute n fo reg åe nde  va rse l.  Sørg  for  at d i s se i n str uks ene  le ses  g
ru ndi g og

 fo rst ås f ull -

ste ndi g fø r du  b egy nne r med  ins tall asjo nen
.

-Zaw
ar tość

nin i e jszy ch zes taw
ów ora

z d oty czą ce  i ch  i ns truk cje  m
oco wan i a p o

d -

le ga jąz m
ia ni e  bez  up rze d

n iego  po wia do mie nia
. P

rzed  ro zpo czę ciem
 m

on ta
u i n -

stru kc je  te  na le
y uw

a
nie  pr zec zyta ć

i do kład
nie  zro zu m

ie ć.

пр очи та йте инст рукц ию пер ед тем
, как  нач ат ь ус тано вк у.  

CZDKFIGRNOPL

CZDKFIGRNOPL

PRE- INSTALLATION CAUTIONS/NO TES:
R

U

60 -9 0  M
in u te s

RU

29

© 564372/02-11-2012/22



27 ≥5mm

© 564372/02-11-2012/21

thule.com   CARLOS
approved compliant

USER MANUAL 

Thule BMA

TÜV

28

© 564372/02-11-2012/2

M12x90 (10.9)
95Nm

M12x35 (8.8)
65Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
95Nm

M12x35 (8.8)
65Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
95Nm

M6x20 (10.9)
15Nm

M12x35 (8.8)
75Nm

M12x35 (8.8)
75Nm

9520092

9554254

5643/3

5643/5

5643/8

5643/8

5643/6

5643/4

564380

5643/7

5643/2



56
43

(4x) M10x1,25x35 (8.8) 

(2x) M12

(2x) M6

(12x) M12  

(2x) M12x90 (10.9) 

(2x) M12x120 (10.9) 

(4x) M10

(2x) M6x20 (10.9) 

(8x) M12x35 (8.8) 

© 564372/02-11-2012/3

(4x) M12

thu le.com   CARLOS
appr oved comp liant

USER MANUAL 

Thule BMA

TÜV

Fitting instructions

Make:

Santa Fé; 2012->

Hyundai

Type: 5643

Montagehandleiding
Fitting instructions
Montageanleitung
Instructions de montage
Monteringsanvisningar
Montagevejledning
Instrucciones de montaje
Istruzioni per il montaggio
Instrukcja montażu
Asennusohjeet
Pokyny k montáži
Szerelési útmutató

для монтажа

N L

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RU S

Connect

25

© 564372/02-11-2012/20

26



© 564372/02-11-2012/19

23

14

24

© 564372/02-11-2012/4

tested
euro

Approved

Approved

ApprovedE11 55R-018565

10

17 18 19

RAYMOND

kg

kg ?

100 kg

8.8

D-Value :        kN

ECE/R55

Couplingsclass: A50-X

15,5

MODIFICATION?
10.9



© 564372/02-11-2012/5

0km

+

1000km

NL.
* s.k.handels AG is niet aansprakelijk voor de schade die het direct of indi-

rect gevolg is van onjuiste montage, daaronder begrepen gebruik van
niet-geschikte gereedschappen en het gebruik van andere dan de voor-
geschreven montagewijze en middelen, dan wel onjuiste interpretatie
van dit onderhavig montagevoorschrift.

GB.
NOTE:
* Should this installation process entail the cutting of the bumper –

conformation MUST be obtained by the installation engineer of the
customer’s acceptance prior to completion. Thule Towing Systems
do not accept responsibility for any matters arising as a result of
this miscommunication.

All measurements are in mm!

* s.k.handels AG is not liable for damage caused directly or indirectly by
incorrect assembly, including the use of unsuitable tools, the use of other
assembly methods and means than the ones outlined, and the incorrect
interpretation of these assembly instructions. 

D.
HINWEISE:
* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen

zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβ StVZO anbringen.

* s.k.handels AG haftet nicht für Schäden, die als direkte oder indirekte
Folge einer nicht ordnungsgemäßen Montage auftreten, darunter fallen
auch die Benutzung von ungeeigneten Werkzeugen, andere als die vor-
geschriebenen Montageverfahren und Montagemittel sowie eine fehler-
hafte Interpretation der betreffenden Montageanweisung.

F,
* s.k.handels AG décline toute responsabilité pour les dommages qui

pourraient directement ou indirectement résulter d’un montage incorrect,
y compris l’utilisation d’outils inappropriés et l’utilisation d’un mode
d’emploi et de moyens autres que ceux prescrits, ou bien résulter d’une
interprétation inexacte des présentes instructions de montage.

S.
* s.k.handels AG är inte ansvariga för skada som orsakats direkt eller indi-

rekt av felaktig montering, inklusive användning av olämpliga verktyg,
andra monteringsmetoder och processer än de som beskrivs, samt
felaktig tolkning av dessa monteringsinstruktioner. 

DK.
* s.k.handels AG er ikke ansvarlig for skade der direkte eller indirekte er

forårsaget af forkert montage, herunder også iberegnet brug af forkert
værktøj og anvendelse af anden montagemetode og andre montage-
midler end de foreskrevne samt fejltolkning af den medfølgende monta-
gevejledning.

E.
* s.k.handels AG no se responsabiliza por daños causados, directa o indi-

rectamente, por un montaje incorrecto, incluyendo el uso de herramien-
tas inadecuadas, por el uso de métodos de montaje y medios distintos
a los indicados y por la interpretación incorrecta de estas instrucciones
de montaje. 

I.
* s.k.handels AG non può essere ritenuta responsabile per eventuali danni

direttamente o indirettamente dovuti ad un errato montaggio, intenden-
do con ciò anche l'uso di attrezzi non idonei e l'uso di metodi e mezzi di
montaggio diversi da quelli prescritti, nonché all'errata interpretazione
delle seguenti istruzioni di montaggio.

PL.
* Firma s.k.handels AG nie ponosi odpowiedzialności za straty poniesione

21

© 564372/02-11-2012/18

22

Connect



1

3

2

4

1

3

2
4

5

6

19

18 20

© 564372/02-11-2012/17

1710

18 19

1710

18 19
2x M12

2x M12x90
(10.9)

2x M6

2x M6x20
(10.9)

© 564372/02-11-2012/6

1

pośrednio lub bezpośrednio na skutek niewłaściwego montażu, w tym
użycia niewłaściwych narzędzi i sposobów montażu niezgodnych z inst-
rukcją, oraz niezastosowanie się do treści instrukcji.

SF.
* s.k.handels AG ei ole vastuussa vioittumisesta, joka on suoraan tai epä-

suoraan aiheutunut väärästä asennuksesta samoin kuin sopimattomien
työkalujen käytöstä, muiden kuin ohjeissa mainittujen asennusmenetel-
mien tai välineiden käytöstä sekä kyseisten asennusohjeiden väärintul-
kinnasta.

CZ.
* Společnost s.k.handels AG neodpovídá za přímé ani nepřímé škody

způsobené nesprávnou montáží, včetně použití nevhodných nástrojů,
použití jiných metod montáže a prostředků než uvedených a
nesprávným pochopením těchto pokynů k montáži.

H.
* A s.k.handels AG nem vállal felelősséget a nem megfelelő szerelésből

közvetlen vagy közvetett módon következő károkért. Ez vonatkozik a
nem megfelelő szerszámok használatára, a leírtaktól eltérő módszerek
és eszközök alkalmazására, valamint a szerelési útmutató téves értel-
mezésére.

RUS.
* / ирма s.k.handels AG не отвечает за ущерб, являющийся прямым или косвен-
ным следствием неправильного монтажа, в том числе использования неподхо-
дящих инструментов и применения иного способа монтажа или других средств,
чем предписано в инструкции, либо неправильного истолкования настоящей

инструкции по монтажу.

Copy of  m anufa ct ur er s p lat e

Co py  of manu fac turer s p late

1 2
Copy of manufacturersplate



© 564372/02-11-2012/7

2 3

16

2x M12

4x M10

4x M10x1,25x35
(8.8)

2x M12x35
(8.8)

17

4x M12

2x M12

6x M12x35
(8.8)

© 564372/02-11-2012/16

18 1918 1917



4x M12x120(10.9)

14 15

4x M12

© 564372/02-11-2012/15

18 19

© 564372/02-11-2012/8

Disconnect

4 5



© 564372/02-11-2012/9

6

14

Disconnect

7

Connect PDC

13

© 564372/02-11-2012/14



70

65

65

12

© 564372/02-11-2012/13

8 9

© 564372/02-11-2012/10



Disconnect PDC 

10

© 564372/02-11-2012/11

120

65

A

A

35mm

A

2x

11

© 564372/02-11-2012/12


